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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 888 2.4 1 3 78.5 99.3
2 854 2.5 1.7 4 61.7 95.5
3 894 3.5 0.7 4 87.5 100
4 849 1 0.9 2 50.9 95
5 888 3.7 1.4 5 74.8 99.3
6 884 4.3 1.1 5 86.7 98.9
7 879 5.2 2.6 10 52 98.3
8 890 3 1.3 5 59.1 99.5
9 863 1.6 0.8 2 80.6 96.5
10 889 1.8 1.1 3 58.3 99.4
11 836 1.6 1.9 4 40.7 93.5
12 819 3.2 1.5 4 80.6 91.6
13 799 2.5 2.4 8 31.2 89.4
14 871 1.3 1.2 3 43.7 97.4
15 875 0.7 0.7 2 36.9 97.9
16 878 2.7 1.5 6 44.3 98.2
17 798 1.4 1.2 3 48.2 89.3
18 799 2.7 24 6 44.7 89.4
19 774 2 2.8 7 28.1 86.6

20 804 2 1.5 4 51.1 89.9
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Caloulata the area of the cross-gecton.
You must show your working.







GCSE Mathematics - Unitised Unit 3 Higher Tier
Summer 2016 Mark Scheme

Summer 2016 Unitised Unit 3

- . v Kk
Higher Tier Mar Comments
7. Ribbon marked
(@)To be viewed with diagram.
(Area of rectangle =) 8x15=120 OR 8x4=32 (cm? v B1 | If 2 rectangles are formed their total area needs to add
to 120.
(Area of triangle =) (12x11)+2 OR v | M1
(Area of trapezium =) 0-5(8+20)x11
=66 (cm?) OR 154 (cm?) v | Al
(Total area =) 186 (cm?) v B1 | FT provided first B1 awarded, and a correct formula
used for the area of a triangle or trapezium.
QWC: QWC?2 Presents material in a coherent and logical
Look for manner, using
e correct units used i.e. cm? acceptable mathematical form, and with few if any
o spelling in at least 1 statement/sentence errors in spelling, punctuation and grammar.
o clarity of text explanations o )
QWC1 Presents material in a coherent and logical
QWC2: Candidates will be expected to v | owc | manner but with some errors in use of mathematical
o present work clearly, with words or quantities shown for | v~ | 2 | form, spelling, punctuation or grammar.
clarity of process or steps OR . o .
AND evident weaknesses in organisation of material but
o make few if any mistakes in mathematical form, spelling, using acceptable mathematical form, with few if any
punctuation and grammar in their answer errors in spelling, punctuation and grammar.
QWC1: Candidates will be expected to QWCO Evident weaknesses in organisation of material,
e  present work clearly, with words or quantities shown for and EITOrs In use of mathematical form, spelling,
clarity of process or steps punctuation or grammar.
OR
o make few if any mistakes in mathematical form, spelling,
punctuation and grammar in their answer
7. (b) 186 x 200 v | M1 | FT 'their 186' x 200.
=37 200 (cm®) v | Al
108 000 + 37 200 ¥v" | M1 | FT 108 000 + their derived 37 200°.
=2:9(032...) (g/em®) v | Al

If no marks awarded, SC1 for 'their mass' = 'their
volume'.

© WJEC CBAC Ltd.
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Sticky Note

This candidate shows a fully correct answer to this question. They have split the shape up into a rectangle and a triangle. They then calculate the area of each shape correctly, and add their answers to arrive at the total area. B1M1A1B1 QWC2.
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‘Calculzte the area of the cross-section,
You must show your warking. 6]

Py T st do A = Ele)xh

8 b bt o 1 P 1 5 V0 B L1 1T L) s iV 3 2 o i i 51 s i b= ot sy ot 0110 o P e 1B

B e R TR T TS T T s i e e s L




Sticky Note

In this example, the candidate uses the correct formula for the area of a rectangle and a trapezium. However, the height of their trapezium is incorrect, but we can follow through for their total area. A QWC mark was lost here for not communicating the names of the shapes they were dealing with. B1M0A0B1 QWC1.
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Diagram not drawn to scals

(a)  You will be assessed on the qualiy of your witlen commenication in this part of the
C gueslian,

Caloulata the area of the cross-gecton.
You must show your working.




Sticky Note

In this example, the candidate uses the more advanced formula for the area of a triangle, but does not use the correct dimensions of the triangle. We can follow through for their final answer. A QWC mark of 2 was given as they have only made 1 error in naming the rectangle as a square. B1M0A0B1 QWC2.






Examiner
only

7. The diagram below shows the uniform cross-section of a metal beam.

20 cm

]

] |4cm

8 cm

15 cm

Diagram not drawn to scale

(@) You will be assessed on the quality of your written communication in this part of the
question.

Calculate the area of the cross-section.
You must show your working. [6]

(b) The length of the metal beam is 2m and its mass is 108kg.
Calculate the density of the metal, giving your answer in g/cm3. [4]

08
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Summer 2016 Unitised Unit 3

v
Higher Tier Mark Comments
11.  (BD =) 40 + tan51(°) v | M2 | M1 for tan51(°) = 40 + BD.
v
(BD =) 32(-391...) (m) v | AL
(CD =)=12(-391...) (m) v | ALl | FT ‘their 32(-391...)’ — 20 provided at least M1

awarded and their 32(-391...) >20.

I1f no marks awarded,

SC2 for (incorrect placement of the 51° in the diagram
leading to) a correct evaluation of tan51(°) x 40 — 20
(29(-395...))

SC1 for (incorrect placement of the 51° in the diagram
leading to) tan51(°) x 40

© WJEC CBAC Ltd.
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Sticky Note

This candidate shows the most efficient method of solving this problem. They have correctly placed the angle of elevation on the diagram, and have used trigonometry to calculate the length of BD before subtracting 20 to arrive at the length of CD. M2A1A1.
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Sticky Note

In this example, a correct answer is obtained by using the sine rule rather than the tangent ratio for calculating the length of BD. M2A1A1.
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Sticky Note

Another correct answer is shown here, but using a far less efficient method. The candidate starts by using the sine rule to calculate the length of AD, before then using Pythagoras' theorem to calculate the length of BD. M2A1A1.






11

11. A vertical flagpole, AB, is of height 40 m.
The points B, C and D lie on level ground, and BCD is a straight line.
Point C is 20m from the base of the flagpole.
The angle of elevation of the top of the flagpole from point D is 51°.

-l

Diagram not drawn to scale

How far apart are points C and D? [4]

11
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. Pistence = smmmc
| year = 365 dams
= 8760 hours
360 540 = 188%00 hous in. 40 yeass.
. Dsteace « 80 x 7183400
26:3x%10" km







in standard form, correct to :







Give your answer in standard form, correct to 2 significant figures.

¢:d
Totauks | lbbxsoohe
05765 - 32650 = 630 740 Odedhlom

B0 % 24 = 768400hp







Summer 2016 Unitised Unit 3

v
Higher Tier Mark Comments
14. 80 x 90 x 365 x 24 OR 80x90x52x7 x24 v B1
=63072 000 OR 62 899 200 v B1
=63 %10’ v B1 Or their equivalents but not in standard form.

FT their answer provided of equivalent difficulty.

© WJEC CBAC Ltd.
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Sticky Note

This candidate shows a correct answer to this question. They have converted 90 years into hours, then calculated the approximate length of the World's road network in kilometres. The final mark is then gained by writing their answer in standard form to 2 significant figures. B1B1B1.






in standard form, correct to :




Sticky Note

No marks were gained by this candidate even though they are using the correct formula. This is because they have not converted 90 years into hours, nor have they written their answer in standard form to 2 significant figures. Note that in this example, writing the answer in standard form would still not have gained the final B mark as the work would not have been to an equivalent difficulty. B0B0B0.






Give your answer in standard form, correct to 2 significant figures.

¢:d

Totauks | lbbxsoohe
05765 - 32650 = 630 740 Odedhlom
B0 % 24 288400hny | 03 x 10 ;




Sticky Note

In this example, the candidate shows a correct method for calculating the length of the road network, but their answer is incorrect. However, they gain the final B mark for writing their answer in standard form to 2 significant figures correctly. B1B0B1.
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Examiner

[
14. At an average speed of 80km/h, it would take approximately 90 years to travel over the entire o
road network of the world.

Use this information to calculate the approximate length of the road network of the world in
kilometres.

Give your answer in standard form, correct to 2 significant figures. [3]

14

© WJEC CBAC Ltd. (4353-02)








